Air Headers and Distribution
Manifolds

Climate Control
Electromechanical
Filtration

Fluid & Gas Handling
Hydraulics

Process Control
Sealing & Shielding



(%)
o
(@]
=
c
©
=
c
.0
-—
o
>
—
=
0
o
o
c
@®©
%)
—
(O]
o
—
©
(&)
I
=
<

VFEK

Features

Color coded handles available.

working pressure.

Distribution lines available upon request.
Ball valve , plug valve, needle valve available for distribution lines and drain port.

Pressures up to 1000 psig (68.9 bar).
Temperatures up to 450° F (232° C) with PTFE packing.
Leak-tight performance testing for every valve with nitrogen at the maximum

Every valve is 100% factory tested with nitrogen.

Pressure vs. Temperature

Air Headers

65 Series
Temperature (°C)
-26 -18 38 93 149 204 256
1000 68.9
900 62.1
800 55.2
700 48.3
E 600 41.4
(]
5 500 17.2
g
£ 400 13.7
300 10.3
200 6.9
100 3.5
0 0
-15 0 100 200 300 400 500
Temperature (°F)
Distribution Manifolds
651 and 653 Series Temperature (°C)
-26 -18 38 93 149 204 256
6000 414
5500 379
5000 \\% 345
%
4500 “'\ﬂd\ 310
Y?v
4000 o 276
Y}d
S 3500 S 241 T
% © Q
£ . . % =]
Y 3000 Stainless |Steel (653 Series) 207 g
a wv
g \ ¢
a 2500 \ 172 <
2000 138
1500 \ 103
1000 \ 69
500 ~ ¥
0 0
-15 0 100 200 300 400 500

PAGE/01

Temperature (°F)

Pressure (bar)



VFK

652 Series Temperature (°C)
-26 38 148 315 482 649
6000 414
%,

5000 R, 345
— Sx .
Iy NG T
& 4000 276 £
g o
5 =]
4 3000 207 §
(o} —
a o

2000 137

1000 69

0 0
-15 100 300 600 900 1200
Temperature (°F)
End Connections
65, 651, 653 Series
Part Type Size Standard
Pipe Butt Welded ASME 16.25
Pipe Socket Welded ASME 16.11

Female NPT

Female BSP Tapered

3/4,1,11/2,2,21/2,3,4

ASME B 1.20.1, GB/T 12716

ISO 7/1, DIN 2999, GB/T 7306.2

Inlet
i Female BSP Parallel ISO 228-1, DIN 3852, GB/T 7307
Connection
ANSI B 16.5
Flange DN20, DN25, DN32, DN40, DN50, ASME B GB/T 9115.1. DIN 2634
DN65, DN80 6.5, GB/T >1. 63
Female NPT
ASME B 1.20.1, GB/T 12716
Male NPT
F le BSP T d
Smae s aperm 14, 3/8, 1/2, 3/4,1 ISO 7/1, DIN 2999, GB/T 7306.2
Male BSP Tapered
Female BSP Parallel ISO 228-1, DIN 3852, GB/T 7307
Male BSP Parallel
M6 x1, M10x 1, M12 x 1.5, M14 x 1.5,
Outlet Female ISO 261 X X X X ISO 261, GB/T 196
Connection Male ISO 261 M16 x 1.5, M20 x 1.5, M24 x 1.5, M27 x 2

Fractional Tube Fitting

bulge Nipple

Nut+Gasket+Fractional

1/4, 5/16, 3/8, 1/2, 5/8, 3/4, 1, 1 1/4

VFK Tube Fitting

Bulge Nipple

Nut+ Gasket+Metric

Metric Tube Fitting

6 mm, 8 mm, 10 mm, 12 mm, 14 mm, 16 mm,

18 mm, 20 mm, 22 mm, 25 mm

VFK Tube Fitting

Female NPT

Male NPT

Female BSP Tapered

Male BSP Tapered

Drain Female BSP Parallel

Connection Male BSP Parallel

1/2, 3/4,1

ASME B 1.20.1, GB/T 12716

ISO 7/1, DIN 2999, GB/T 7306.2

ISO 228-1, DIN 3852, GB/T 7307

Female 1SO 261

Male ISO 261

M10 x 1, M16 x 1.5, M20 x 1.5, M24 x 1.5

ISO 261, GB/T 196

Fractional Tube Fitting

1/2, 3/4, 1

Metric Tube Fitting

10 mm, 14 mm, 20 mm, 25 mm

VFK Tube Fitting

PAGE/02

n
o
2

c

©
=

c
.0
=
o)

>

—
E
@
a
©

c

©

()

—

(O]
©

—

©

()
T
>
<




(2]
ke
O
=
C
©
=
C
S
2
o]
>
—
=
@
a
©
C
@©
(7]
—
(O]
©
—
®
(&)
T
=
<

VFK

652 Series

Part Type Size Standard
Pipe Butt Welded ASME 16.25
Inlet Pipe Socket Welded ASME 16.11
ne . Female NPT 3/4, 1 ASME B 1.20.1, GB/T 12716
Connection
Female BSP Tapered ISO 7/1, DIN 2999, GB/T 7306.2
Female BSP Parallel ISO 228-1, DIN 3852, GB/T 7307
Pipe Socket Welded ASME16.11
Female NPT ASME B 1.20.1, GB/T 12716
1/4, 3/8, 1/2, 3/4
Outlet Female BSP Tapered ISO 7/1, DIN 2999, GB/T 7306.2
Connection Female BSP Parallel I1SO 228-1, DIN 3852, GB/T 7307
Female 15O 261 M6 x 1, M10x 1, M12x 1.5 M14x 1.5, IS0 261, GB/T 196
M16 x 1.5, M20 x 1.5, M24 x 1.5, M27 x 2
Female NPT ASME B 1.20.1, GB/T 12716
Drain Female BSP Tapered 1/2, 3/4, 1 ISO 7/1, DIN 2999, GB/T 7306.2
Connection Female BSP Parallel I1SO 228-1, DIN 3852, GB/T 7307
Female 1SO 261 M10x 1, M14 x 1.5, M20 x 1.5, M24 x 1.5 I1SO 261, GB/T 196
Constructlon 1 Standard Materials of Construction
Air Headers Material/ASTM Specification
- Item Component -
65 Series Stainless Steel

Optimized Setting of the Main Pipe and the Branch

Outlet End Connection

1 Inlet Valve 45 Series Ball Valve
Flange F304 SS/A182 F316 SS/A182
Main Line 304 SS/A312 316 SS/A312
Branch Fitting 304 SS/A276 316 SS/A276

Distribution Valve 43 series ball valve as standard option

Drain Valve 43 series ball valve as standard option

Plug 304 SS/A276 316 SS/A276

Outlet End Connection

Main Line Tube Distribustion Main Line Tube Distribustion
Size (Sch 40) Fractional Metric Valve Size (Sch 40) Fractional Metric Valve
in. mm in. mm
3/8 8,10 6to 8 —_— 12 24 to 32
3/4 1/2 12 4 2 5/8 14,16 1210 16
1/4 6 10to 16 3/4 18, 20 8to 10
3/8 8,10 10to 14 1 22,25 4106
—_— 12 6108 1/2 — 18 to 24
1 21/2
1/4 6 18 to 24 5/8 14,16 18 to 24
1/2 — 6 3/4 18, 20 12
3/8 8,10 16 to 24 1 22,25 8
—_— 12 10to 12 11/4 28 4
11/4 5/8 14,16 4106 3 1/2 _ 26 to 38
1/4 6 28 to 48 5/8 14,16 26 to 38
1/2 e 8to 10 3/4 18, 20 16 to 24
3/8 8,10 28 to 36 1 22,25 10 to 12
— 12 16 to 20 11/4 e 6to8
11/2 5/8 14,16 8to 10 4 3/4 18, 20 28 to 40
3/4 18, 20 4106 1 22,25 16 to 24
1/2 — 12 to 16 11/4 e 10to 12

PAGE/03




VFK

Distribution Manifolds

i 1
653 Series Standard Materials of Construction

Material/ASTM Specification

Stainless Steel
44 Series Ball Valve

Item Component

Inlet Valve

Optimized Setting of the Main Pipe and the Branch

Outlet End Connection

Flange F304 SS/A182 F316 SS/A182
Main Line 304 SS/A312 316 SS/A312
Branch Pipe 304 SS/A312 316 SS/A312

Distribution Valve

67 series plug valve as standard option

Drain Valve

67 series plug valve as standard option

Plug

304 SS/A276

316 SS/A276

Magi‘zléme Pipe Tube gil;?r?;ﬁ¥ig:|
(Sch 80)  (Sch 80) Fractional Metric Valve
in. mm
1/8 3/8 10, 8 6to08
3/4 /4 1/2 12 4
— /4 6 10to 16
1/8 3/8 10, 8 10 to 14
1 /4 — 12 6to8
— /4 6 18 to 24
— 1/2 — 6
1/8 3/8 10, 8 16 to 24
1/4 — 12 10to 12
11/4 3/8 5/8 14,16 4106
— 3/4 6 28 to 48
— 1/2 — 810 10

Outlet End Connection

Main Line Quantity of
Size Pipe _ Tube : Distribution
(Sch 80) (sch 80) Fractional Metric Valve
in. mm
1/8 3/8 10, 8 28 to 36
1/4 —_— 12 16 to 20
1172 3/8 5/8 14,16 8to 10
12 3/4 18, 20 4106
—_— 1/2 — 12to 16
1/4 —_— 12 24 to 32
3/8 5/8 14,16 12to 16
2 12 3/4 18, 20 8to 12
3/4 1 22,25 4108
— 1/2 — 18 to 24

PAGE/04

(2]
ke
(©]
=
C
©
=
C
S
2
o]
>
—
=
@
a
©
C
@®©
(2]
—
(O]
©
—
@®©
()
T
=
<




VFK

651 Series Standard Materials of Construction

Material/ASTM Specification

Item Component
NETEIN L

1 Flange F304 SS/A182 F316 SS/A182

2 Main Line 304 SS/A479 316 SS/A479

3 Branch Pipe 304 SS/A312 316 SS/A312

4 Distribution Valve | 31/32 series needle valve as standard option
5 Plug 304 SS/A276 316 SS/A276

Optimized Setting of the Main Pipe and the Branch

Outlet End Connection

(2]
ke
O
=
C
©
=
C
S
2
o]
>
—
=
@
a
©
C
@©
(7]
—
(O]
©
—
®
(&)
T
=
<

gMainline = pie  Tube  Distbution
(Sch 160) Frac_tlonal Metric Valve
in. mm
1/8 3/8 10, 8 10 to 14
1 1/4 — 12 6to8
— 1/4 6 18 to 24
— 12 — 6
1/8 3/8 10, 8 16 to 24
1/4 —_— 12 10 to 12
11/4 3/8 5/8 14,16 4t06
—_— 1/4 6 28 to 48
—_— 1/2 — 8to 10
1/8 3/8 10, 8 28 to 36
1/4 — 12 16 to 20
11/2 3/8 5/8 14,16 8to 10
1/2 3/4 18, 20 4t06
— 1/2 - 12to 16
1/4 — 12 24 to 32
3/8 5/8 14,16 12 t0 16
2 1/2 3/4 18, 20 8to 12
3/4 1 22, 25 4108
- 1/2 - 18 to 24
652 Series Standard Materials of Construction

Material/ASTM Specification

Component
Stainless Steel
1 Main Line 304 SS/A479 316 SS/A479
2 Needle Valve 31 series needle valve as standard option
3 Plug 304 SS/A276 316 SS/A276

Carbon steel and other materials are available upon request

PAGE/05




VFK

splojiuely uongnaisiqg pue sieplesH Jiy

paiyads
JaWwIolIsnD

P07 3|pueH

‘payioads g pjnoys sieyjo “Jequinu

(L1'SL L6 1/@D) abuely

alpueH xe|g
HOUS UHM

paJanod
JAUIA MOJIBA
1991 ssajulels

paJanod
[Auip anig
|9931S sso|ulels

Buuaplo ay) ul pasoubl agq pinoys youd pealy} plepuels IED)
ww ¢ :8Aoge pue JZIA _uwu.m._._wm 44 07 Nd
ww G yZIN 0 ZLIN (L'sL L6 1/9D) abued 1D
ww | :mojeq pue QLW Yioows 44 07 Nd
1SMOJ|0} SB aJe spealy} doujew Joj yoyd pesiy} plepuels | (r€9Z NIQ) 2buel4 5a
Hjeway pajesss 44 07 Nd
(7€9z NIQ) dbuel
Yioows 4y 0¥ Nd e
(591 4 ISNY) 2buely
SA A parelsas 4y 00¢ ssep | 137
N (591 9 ISNY) abuey4
UM [y ¢ x LN e Sy 61 uoows 4y 00 ssep [HAV
oqn] SN ww 7 | §Z || oueN+19%seD +1INN bl 08 Na| 08 (1'sL16 1/gD) abuel4 19
bunyg aqny |-y ST X DI 1O addin pajelas 44 0Z Nd
|euonoel e 6in oel. S9 Nd| S9
ww 7 ab|ng |euondeiq+| 94N . 6
(g Jod) | g . 1995eD+INN (15116 1/gD) dbued |y
ddS4d 9|eiN Sl X th_._D_ mw & ) Yioows 44 91 Nd
(dg Jod) |- g bumatd aanL L3N | XIN (v€9Z NIq) 2Buely
% -
T X LTN| LT n_n_mmAw_M“_.Mu mhw vrmrmmo_\w Som] osnal os pojelias 44 91 Nd ia
ww sz| sz E SN 10 (ui) /11 | OC aqn| |euonoely vl ¢l sy (r€9Z NIQ) abuel4 wa
. : 100WS 1Y 0Z Nd
Sl X VCN| T Amwm_%w“c N4 ww gl | 8L (DY 404) ddsd oeN| dg || - 4
S 0S| 3jewa4 T . 07 NG| oy | | (591 8ISNY) abueld | 5y
<l XOONN_\/_ 0T 1dsgoen | 1y 10 (uy | |9 n_n_mmAw__m_m.“%m_“w a4l - loz/le palenas 44 051 ssep
. SL X ylINJo 10 : ZENQ (591 9 ISNY) 2buey4
e Awu_\,__ 9L || Ldsgalewsd| ¥d | |SNEA|A ww 1 | 7 %_mm_m_w,w S| - 10z| €& | | yroows 1y ogL ssep | A
- ww 7|
ww 1| 7L 1dN ®[eN N Bnid 10 (ul) V€ (45 Om_Am__w_m_.\Wm”_“_v N4|| z1 SZ Nd| sz pleM Bng adid| 4d
WS el et || Ldnorewas | N ww ol |01 1dsaaen| 14| oL L v plM 333005 adid | sd| | 22
cncv_A oo__.__\m oL SuopN oN|N 0 A.%_wcm\w 8 1dsgoewsq| ¥H4d||g 0Z¢ Nd| oz (dY 404) ddsg ojewa4 | dd
wiw wiw
10 (u) N\m 8 bnid [d 10 (ur) w\m 9 1dN 3N N(|9 Ll 9L 14s9g ojews4 | Hd| ||SS YOE| S
SUON SN_A (unv/L| ¥ LldNoewad| NdA || ¥ v/iE| T LdN djewd4 | Nd| |[SS9LE|SS
. 5 . o0 bNn|d < JEL L 3 5 0O Yo 3 O . ONE o S o0 S © s
21 q o O S, O o DO

1l

%% 1

T—8NA—CLXIN8—A9LN4—G9SS

JapJO 0} MOH selas 69

PAGE/06




VFEK

anjeA PIS| S ‘payoads aq pjnoys sJoyjo ‘Jaquinu
Buueplo sy} ul pasoubl aq pnoys youd pesaiyy piepuels
aAje/ [|eg sauRs Ad | VW Ww Z :9Aoge pue JZA
ww G°L 2N 03 ¢LIN
OABA ||eg S9MSS d9 | H ww | :mojeq pue QLA
anjeA 3pasN SaLaS 4N | 4 ISMO||0} Se 8le spealy} oujew Joj yoyd pesiyy pJepuels |
eway
SAje/ 9|Pa3N SaUaS aN | g
anjep Bnid sauas Ad| A SMEAPIS | S
SAeA |leg v
bnd | d SoUSS Ad
o|ddiN abjng o|ddiN a6jng dAe/ |leg
¢ X LanpLe >uan [an | ON >ueN [ @AN||  seas gg | H
+19%sen+1nN +194sen+inN SNE 5555
W sz) se 9|ddiN abjng ww qz| S¢ a|ddiN abjng _ M/w:_m_um “_n E|
B 0 |euonelq| gdn - leuondel| g4n : - abue,
SX Wch_QvN YT | | +1sen+1nN Sl X W_Ns_mm vz | | H1iseo+inN 9A[eA 3|p33N q ?vmwﬁ;mw._w\m“__wvomﬁ z_“ a3
X buny Bunyy SoLRS aN X
S'L X CTN 10 | XIN . o XN (7'SL16 1/gD) abuely
(44 aqn| JUIBIN S'L X CTNI0 aqn| dUIBN anjep bnid IND
ww zz - ww 7z (44 - 501155 \g A Yioowss 44 0Zt7 Nd
S'L X 0ZN Ul aqnL| -y ST X 0N UIHI 9QNL I gy (£z9T NIQ) dbueyy
Jo ww o7 0z Jeuonoely 10 Ww Q7 oz |euonoelq oN po1eLIds 4y 00T SSBP ia
Jo (un /L L @yi0d| o 10 (Cun p/L L @yio9| g (1292 NIq) sbuer
ww gl | 8L dds8 SIEN ww gL | 8L dds8 SIFN . 05 Na| 0s | | yoows 3y 0osz ssep | MY
(dY 4oJ) (dY 404) : 6
ww 9| Slewa dd ww 91 Slewa. dd : 0¥ Na (591 9 ISNV) Sbueyy
10 (ui) | 9t dds8 sjeted Jo (uny | 9 ddSd Sjeted o loz/lt 07 | | parenias 44 0057 ssed v
: (DY Jod) : (DY J104) ° .
S'L X 7LIN 10 SN S'L X vLIN IO SN Z€ENd (591 4 ISNY) abue|4
de dle .
tw py | P osl eI o py| P oSl 3jeN 10z| €€ | | poows 1y 005z ssep | NV
ww z| (dY 104) ww 7| (dY 104)
s (uypjg| CH| | osioewsy| W s (uppig| EH| | osteewas| WA Tz Sz Nd|'se PlM 3ing 2did | 8d
ww oL | oL ldsgden| 1y wwolL| oL ldsgsein| 1y oL UL L v PR 19x0s adid | Sd
ww g ww g
oz ldsg sjews4| o(uyzn|8 1dsg sjews4|  dd 8 0ZNd| oz (dY 104) ddSg djewsd | dd
ww 9 ww 9
Jo(ur) 8/g “) 1dN e N 10 (ul) g/g 9 1dN 9|eN N 9 Ll 9L 1dSd 9jews4 | Hd €59 |[SS V0€ [¥S
(uyv/L| ¥ 1dN sjews4 | N4 (uw/L| v 1dN 9jews4| N4 14 v/l TL 1dN sjews4 | N4 LG9 |[SSILE(SS

9zis uleag  adA] uleig

uleig

Bnjd/anjep IBnid/ainen
ETATo)

Aypuend
N0

|euR)e

az1S 1|u| e

9zIS 1dINO adA] 3330 SR ET[V]] adAy 33| sauRS

splojiuel\ uongnaisiqg pue sieplesH Jiy

[ ]

8N49—d8X401l —9LNd— 1 S9SS

J19pIQ 0} MOH S3LBS £59°169

PAGE/07




Sp|ojluel\ uongnulsiqg pue slapieaH Jiy

PAGE/08

VFK

‘payoads aq p|noys sieyjo ‘Jequinu
Buuapio ay) ul pasoubl ag pinoys yoyud pealy) plepuels
ww z :eAoge pue JZN
ww g°L ‘2N 0 ZLIN
ww | :mo|eq pue QLN
ISMO||0} SB ale spealy} oujew Joj yojd peauy) pJepueis |
Dllewsy

¢ X LTN

Sl X VTN

Sl X 02N

Sl X 9LIN

Sl X vLN oo
19%05 adid

PI9M 1ng adid

Sl X CLNJo(ul) v/€

(d¥ 104) ]
L X LOLIN ddSq 9jews4 4 PISA\ 193208 =did
. (dY 104) (d¥ 104)
(un 2/ 0S| sjewa ULl ddsg ojewa

L X 9N 10 (-uy) 8/€ 1dSg ajewa4 bn|d 1dSg ajewa4

(un v/l 1dN 9jews4 OABA S|P9N 1dN ojews4

lels1eiN
Apog

9zIS 1I9in0 adA] 1p3no Anuend 1BANO  6njd/anjen 1BNO

T[T

CLN48—91N4—1¢S59SS

9zIS 19|u| adA] 191u] ITIETS

JopJO O] MOH S3lIBS 299



VFEFK

VFK FLUID CONTROL CO.LTD

Add:No.18 Danyan Road,Fenghuang Industrial Park,Danyang,Jiangsu,P.R.China
Tel: 0086-511-86197685

Fax: 0086-511-86535052

Http://Awww.vfkgroup.com



	页 1
	页 2
	页 3
	页 4
	页 5

